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QUESTION 1

A user is performing a materialreturn transaction against excess stock in an Inventory organization; however, the user
fails to select the Physical Material Return Required check box. 

What happens? 

A. A transfer order line remains open 

B. Shipment lines are created 

C. Stock isreserved 

D. It is considered as accounting-only return 

Correct Answer: D 

 

QUESTION 2

You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a
supplier. 

Where do you mention that this Inventory Organization is meant for one particular supplier? 

A. Manage Inventory Organizations 

B. Manage Contract Manufacturing Relationships 

C. Manage Item Organizations 

D. Manage Subinventories 

E. Manage Inventory Organization Locations 

Correct Answer: A 

 

QUESTION 3

Your are in the process of analyzing the demand and supply schedules for the item based on high level reservations. 

Identify the reservation document type that would be applicable to both supply as well as demand. 

A. Account Alias 

B. Movement Request 

C. Requisition 

D. On Hand 

E. Work Order 
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F. Transfer Order 

Correct Answer: F 

 

QUESTION 4

Your customer is managing a large sales team divided in two different geographies in the USA. They have the East
Coast sales team and the Central sales team. Both teams are handled by one manager and perform the same function. 

You customer wants to track the expenses of the two teams separately; however, they do not consider them different as
they are handled by one manager only. 

How will you fulfill the requirement? 

A. Define them as one department and one cost center. 

B. Define them as a single department and two separate cost centers. 

C. Define them as two separate departments and a single costcenter. 

D. It is not possible to fulfill the requirement. 

Correct Answer: B 

 

QUESTION 5

What are two outcomes when a lot expires on an item with lot control enabled? 

A. It cannot bereserved for a date beyond the expiration date. 

B. It is issued out of stores. 

C. It remains in inventory, but is not considered on-hand when the user is performing min- max or reorder point planning
calculations. 

D. It cannot be transacted. 

E. It is not included in cycle counts. 

Correct Answer: AC 

 

QUESTION 6

Your client wants the purchasers to be able to run the min-max plan for items under their control and then manage the
POs created out of these. Which parameters can they use tobe able to do this? 

A. From Planner to Planner 

B. From Buyer to Buyer 

C. From Item to Item 
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D. Sort by 

E. Planning Level 

Correct Answer: C 

 

QUESTION 7

The physical inventory process is carried out for a particular inventory organization with the following 

parameters: 

Negative QuantityTolerance Percentage is set to 10% Approval Type = \\'Always\\' 

The system says that there are 100 on hand, but you only counted 95. What will happen? 

A. The system will ask a user to recount before posting. 

B. The setup is invalid; it will give an error message. 

C. Because the 95 is within the 10% tolerance, it will post without approval. 

D. An approval will be required before posting. 

Correct Answer: D 

 

QUESTION 8

A supply request has been received in supply chain orchestration. Both organizations belong to the same legal entity
and they do not have a buy-sell relationship between them. Which type of execution document can fulfill the supply
request? 

A. Sales Order 

B. PurchaseRequisitions 

C. Purchase Order 

D. Transfer Order 

Correct Answer: D 

 

QUESTION 9

Identify the correct sequence of consigned inventory process flow. 

A. Consumption advice sent to supplier ?Consignment order sent to supplier ?Consignment agreement creation
?Consigned inventory received by buyer 

B. Consignment order sent to supplier ?Consignment agreement creation ?Consigned inventory received by
buyer?Consumption advice sent to supplier 

1Z0-1073-22 VCE Dumps | 1Z0-1073-22 Study Guide | 1Z0-1073-22 Braindumps                                4 / 7

https://www.pass2lead.com/1z0-1073-22.html
https://www.pass2lead.com/1z0-1073-22.html
https://www.pass2lead.com/1z0-1073-22.html


https://www.pass2lead.com/1z0-1073-22.html
2023 Latest pass2lead 1Z0-1073-22 PDF and VCE dumps Download

C. Consignment order sent to supplier ?Consignment agreement creation ?Consumption advice sent to supplier
?Consigned inventory received by buyer 

D. Consignment agreement creation ?Consignment order sent to supplier ?Consigned inventory received by buyer
?Consumption advice sent to supplier 

Correct Answer: D 

 

QUESTION 10

Your client has not been managing Supply Request Exceptions on a regular basis. What issue does this cause? 

A. The request will be deniedautomatically if not resolved within two days. 

B. Supply orders are not created for these exceptions, thus causing disruptions in the Supply Chain. 

C. If exceptions are not resolved within a set threshold days, it alerts the manager and continues to escalate up the
Supply Request Exception Chain. 

D. No issues would be caused; these are just warnings. 

E. After the errors reach a set threshold in profile options, no new requests can be created. 

Correct Answer: B 

 

QUESTION 11

What are the two scenarios that allow you to update the lot control option for an item?(Choose two.) 

A. Item has zero on-hand quantity. 

B. No open internal order exists for the item. 

C. No open sales order exists for the item. 

D. Item material status is Active. 

Correct Answer: AC 

 

QUESTION 12

Yourorganization performs a restock via a transfer order between inventory organizations, using the following
parameters for processing: Transfer Type: In-transit transfer type Receipt Routing: Standard Transfer Order Required:
Yes During the process, the receiving organization wants to make a change to the transfer order line. After 

which fulfillment stage will they no longer be able to change the transfer order? 

A. Closed 

B. Ship Confirm 
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C. Awaiting Fulfillment 

D. Awaiting Billing 

E. Awaiting Receiving 

Correct Answer: A 

 

QUESTION 13

Which two options constitute the rights and responsibilities of a Legal Entity? (Choose two.) 

A. Own property 

B. Facilitate resource allocation 

C. Manage warehouses 

D. Account for themselves to regulators, taxation authorities, and owners according to rulesspecified in the relevant
legislation 

E. Create opportunities for new business 

Correct Answer: AD 

 

QUESTION 14

Which execution document is created by supply chain orchestration when a make request is received? 

A. Purchase Order 

B. Routing Create 

C. Work Order 

D. Transfer Order 

E. Movement Request 

Correct Answer: C 

 

QUESTION 15

You have an organization that runs both its domestic and international business from the same offices. However, the
organization does not want the domestic side of the business to be able to transact on the international side, even
though they areselling the same material. 

How do you configure your enterprise to meet this requirement? 

A. Set up the domestic and international businesses as separate cost centers. 
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B. Set up the domestic and international businesses as separate business units. 

C. Setup the domestic and international businesses as separate operating units. 

D. Set up the domestic and international businesses as separate projects. 

E. Use data access security to separate what each customer can control. 

Correct Answer: B 
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